
L = {w ∈ {a, b, 
}∗ | w não 
ontém a sub
adeia ab
}
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Método indireto: AF ⇒ GLD
S → bS | 
S | aX | ǫX → aX | bY | 
S | ǫY → aX | bS | ǫ

2



Método indireto: GLD ⇒ ER

S → bS | 
S | aX | ǫX → aX | b(aX | bS | ǫ
︸ ︷︷ ︸Y ) | 
S | ǫ

S → bS | 
S | aX | ǫX → aX | baX | bbS | b | 
S | ǫ

S → bS | 
S | aX | ǫX → (a | ba)∗(bbS | b | 
S | ǫ)
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S → bS | 
S | aX | ǫX → (a | ba)∗bbS | (a | ba)∗b | (a | ba)∗
S | (a | ba)∗

S → bS | 
S | a((a | ba)∗bbS | (a | ba)∗b | (a | ba)∗
S | (a | ba)∗
︸ ︷︷ ︸X ) | ǫ

S → bS | 
S | a(a | ba)∗bbS | a(a | ba)∗
S |a(a | ba)∗b | a(a | ba)∗ | ǫ

S → ( b

︸︷︷︸
| 


︸︷︷︸
| a(a | ba)∗bb
︸ ︷︷ ︸

| a(a | ba)∗

︸ ︷︷ ︸

)∗

(a(a | ba)∗b

︸ ︷︷ ︸
| a(a | ba)∗
︸ ︷︷ ︸

| ǫ
︸︷︷︸

)
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Método direto: AF ⇒ ER

( b
︸︷︷︸

| 

︸︷︷︸

| aa∗


︸ ︷︷ ︸
| aa∗b(aa∗b)∗(b | aa∗
)
︸ ︷︷ ︸

)∗

( ǫ
︸︷︷︸

| aa∗
︸︷︷︸

| aa∗b(aa∗b)∗(ǫ | aa∗)
︸ ︷︷ ︸

)

ou
( b
︸︷︷︸

| 

︸︷︷︸

| a(a | ba)∗(
 | bb)
︸ ︷︷ ︸

)∗

( ǫ
︸︷︷︸

| a(a | ba)∗(ǫ | b)
︸ ︷︷ ︸

)
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